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We need to find an expression for the width w, when the depth is h.
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So the width at depth h
=  x + x + 120  =  2x + 120 = 80 – 2h + 120 = 200 – 2h
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The total fluid force on the vertical face of an object submerged in water is given by

Feflywi)dy

where Fis the fluid force on the object in tonnes
s the depth below the surface in metres
w() is the width of the object at depth y below the surface in metres.
ais the depth of the top of the object below the surface in metres
b is the depth of the bottom of the object below the surface in metres.

The wall of a dam at one end of a reservoir is in the shape of an isosceles trapezium. The
dimensions are shown in the diagram below.
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‘What is the total fluid force on the dam when the reservoir is full?





 


We need to find an expression for the width w, when the depth is h.
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